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Y 97 ST & | §F J97-97 § 7T 26 FoT 8 |

3G J97-97 & 5 YT & : @V 3, @V &, GUS &, TS ¢ N GUS T |

GUSHHE TS, A% H11 HF & | @S THE Jo7 8, JA9H &2 AHFH 3 |
GUE T H12 J97 5, T3% & 3 37% & | GUS § 7 4 37% &7 % JeATTRT J97
BN @GS ITH3 yo7 8, Jdh S5 3% 5 /

J97-97 § THT W FI3 [dHeT 781 8 | T, 3 3Pl Gt Uh I H, diT B
Fret T J97 H 37K Gie 37l aret il FeAl § ST-ake G99 J57 1591 T E
oG o1 4 379! 13T T 597 § G BacT Tb 3T & BLE |

c=3x10%m/s

h=6-63 x 10734 Js

e=16x10"1YC

n,=4nx 107 Tm A?

g, =8-854 x 10712 C2N~1 m2

1

4re
o

=9x10° N m?2 C2

m, = 9-1 x 1073 kg

=[¢IH 1 GIHH = 1-675 x 1027 kg

I T GodHM = 1-673 x 10727 kg
ARG T&AT = 6-023 x 1023 ¥fa aW #ia

SiecaHH FHIdmh = 1-38 x 10723 JK!
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General Instructions :

(i) All questions are compulsory. There are 26 questions in all.

(it)  This question paper has five sections : Section A, Section B, Section C,
Section D and Section E.

(iti) Section A contains five questions of one mark each, Section B contains
five questions of two marks each, Section C contains twelve questions of
three marks each, Section D contains one value based question of
four marks and Section E contains three questions of five marks each.

(iv)  There is no overall choice. However, an internal choice has been provided
in one question of two marks, one question of three marks and all the three
questions of five marks weightage. You have to attempt only one of the
choices in such questions.

(v) You may use the following values of physical constants wherever
necessary :

c=3x10%m/s

h =663 x 10734 Js
e=16x10"1°C

n,=4nx 1077 Tm A?

g, =8-854 x 1072 C2N1m™

1

4re
o

=9 x10° N m? C2

m, = 9-1 x 1073 kg
Mass of neutron = 1-675 x 102" kg
Mass of proton = 1-673 x 1072 kg

023

Avogadro’s number = 6-023 x 10“° per gram mole

Boltzmann constant = 1-38 x 10723 JK!
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SECTION A

1. Tt THl. (ac) ufwy o, deafier dicedl d91 9/ 6 HA: HE B -
V = 200 sin 300 t dlce 3 I = 8 cos 300 t UFRR | =1 9itaer i Tl
T 8 a1 SR 2 sRer T |
In an a.c. circuit, the instantaneous voltage and current are

V = 200 sin 300 t volt and I = 8 cos 300 t ampere respectively. Is the
nature of the circuit capacitive or inductive ? Give reason.

2.  HhIhd GOR FGEAT % WY T sAh ARG § X A1 Y diedl o AH

%fF@Q:
— X > Y » AlEE —
TSl Gohd eIl Hehd

Name the boxes X and Y shown in the block diagram of a generalized
communication system :

y

—» X > Y Receiver
Message signal Message signal

3. el <im & g1 geai <l ashar BISATE UM (FUR) & | I U I8 i ford
Tuae T S, df d| f wied gt qun g (TeR) R yeRr ufafda
Bt 2

The radii of curvature of both the surfaces of a lens are equal. If one of
the surfaces is made plane by grinding, how will the focal length and
power of the lens change ?

4. 3 SO HIETS o IR (qld) q>1 FH o6 qR o Ifalg A9H § s’ 7,
T ¥ fopm ugrd & ar i T AfUw g 2 U I I g & forw wwor
faRem |

Two wires, one of copper and the other of manganin, have same
resistance and equal thickness. Which wire is longer ? Justify your
answer.
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5. I 3@ U U YATcHe forg oM™ 1 & W@ gois T3 & | Q qen P forgad

o o9 forell 31cq RuTTcHeR STaw Y feafas Sertett & 3=t <1 fag == g 2
I IR I gfee & fore wror feafiw | 1

The figure shows the field lines of a positive point charge. What will be
the sign of the potential energy difference of a small negative charge

between the points Q and P ? Justify your answer.

"Q
o2
+
4
e o
SECTION B

6. R URIY & I gREmE! T a1 § Wik &’ ug ot gitriya Hifse | a5 wife
& fopm & 4 Yehe BIaT 3 ? gisT foh forpq wike wem & =i ook foggg ama
ST 9Tl IR (FeReT shaeti) | Stk &7 i = i & ot I8 77w 8 b
3 A | ToEd 9T ohl dieedl i 3Afd 3= @1 AT | 2

Define the term ‘power loss’ in a conductor of resistance R carrying a
current I. In what form does this power loss appear ? Show that to
minimise the power loss in the transmission cables connecting the power
stations to homes, it is necessary to have the connecting wires carrying
current at enormous high values of voltage.
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Hifgam & TFHT Icoo @1 % T hl qUTeEd 1 I 589 nm & | 39

AT <hl TIAS oAl T ShIfTY, forees fofe ¢ sl qreed ot 9 ot a1 &
Hul

The wavelength of light from the spectral emission line of sodium is

589 nm. Find the kinetic energy of the electron for which it would have

the same de Broglie wavelength.

T e ol fRHl 980 § 90 cm G W T@ T 7 | TH Iqa @iF I o1 9
f{?ﬂﬁﬁ,ﬁﬁaﬁ%{ﬁ@ 20 cm%,ﬁﬁwaﬁ%aﬁﬂﬂﬁﬁwﬁg |
& <l Bid gl F1d HINT |

A screen is placed 90 cm away from an object. The image of the object on

the screen is formed by a convex lens at two different locations separated
by 20 cm. Determine the focal length of the lens.

(a) Taraifera Tifyebm stfufshan ° z 9on A =1 w9 FRuif i -

235 144 A
n -+ 92U—> ZBa+ 36X+3n

(b) AR gk b afufshan & Wield den =gl gM1 1 HEA wfda
TEdl B, df goqd fohd TohR ol H ®YAd 8idT & ? T shiffu |

(a)  In the following nuclear reaction
235 144 A
n+ 92U—> ZBa+36X+3n,

assign the values of Z and A.

(b)  If both the number of protons and the number of neutrons are
conserved in each nuclear reaction, in what way is the mass
converted into energy ? Explain.
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g9 § T HIfST b ATdgel AThIHT H IR Th8 JhR gidl & |

YT
IR ¥ H9R H, 9 i fohm gt yorment (fafyr) =1 3w gran ® 2 3@ fofa o
fohd YR o TUT TN T WA BT 8 ? hy AT hy, SHAAT & §F T &
o= SAfeehan st gl d % foe =eie fafan |

Explain briefly how communication takes place using mobile telephony.

OR

Which basic mode of communication is used in satellite communication ?
Which type of wave propagation is used in this mode ? Write the
expression for the maximum line of sight distance d between two
antennas having heights h; and h,,

w@us |
SECTION C

7l gy ¢ ufwy @ # 10 uF % =) G4 1 500 V o qeers & el
T 2 | Fuffa Hifse .

(a) T (JTcTshH) shi god TR qe

(b)  THH HE T E |
S
Ho
CZ
== A+
Cl C3
e =
+C4—
L
e
+ _
500 V
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A network of four 10 uF capacitors is connected to a 500 V supply as
shown in the figure. Determine the

(a)  equivalent capacitance of the network and
(b)  charge on each capacitor.

500 V

12. 16 Q g % T IR HI AIgH Teh a7 SR 71 & | FEh! Teh ol & al
it & 9 v faga-aes 9a (3.00.T%.) & TH @1 & 9 3R sig fom mn
219 8 ot T 9m 1 49 giehfora I | 5@ vt % R ¢ qan D & =
fawer=at s ifve |
Ife 39 AR I GiF X G dFa18 9 THERH A2 Hl T dR &= fear S
3R 3t A I I YR ST T 7 61 Teh 41 o i & «fi= g feon S,
ql o7e 3ok Torelt foepul & g1 i & s fawar=ae s/ g 2

D C
R
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A 16 Q resistance wire is bent to form a square. A source of emf 9 V is

connected across one of its sides as shown. Calculate the current drawn

from the source. Find the potential difference between the ends C and D.

If now the wire is stretched uniformly to double the length and once
again the same cell is connected in the same way, across one side of the
square formed, what will now be the potential difference across one of its

diagonals ?

13.  forelt s (IweR) H 65 x 10 4T 1 Thad Freehid & feme 2 | 30 &9 |
Tsh SAFL & T e Q¥ H 4-8 x 108 m/s T I A YA HAT 7 | T
ST foh 389 SR 1 9 JATRR T 8 | JATHR HEl H 8k FOH ohl T
Fa HIT | F1 AGRT Soagia 1 =T T R et 2 2 Taee HifT | 3

A uniform magnetic field of 6:5 x 104 T is maintained in a chamber. An
electron enters into the field with a speed of 4:8 x 10% m/s normal to the
field. Explain why the path of the electron is a circle. Determine its
frequency of revolution in the circular orbit. Does the frequency depend

on the speed of the electron ? Explain.
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SATIYIh TNYY ARG SR TohE! TR-IA T YohTYT o 3T9d d 81 dreil 39 diF

A TishaneTi o1 & § guH v S8 fagq-ares 9a (3.10.T%. ) 3¢9 8ial
7 | forelt T & fotw 1 — v sifrenefire as s |

ROl & Gfomd (FW) & fau gerd &1 = w1 & o e @
HEwaqUl HTIGUE! 1 Ieai@ <hifT |

YT

899 4 guiq HIfS for Terter IcEsiss SIS (LED) &1 8 o9/ Sl & 3R
3ol HRIfAfY 6 e HINT | R duged foed Sesl i e |
e 3.€). (LED) & oF e oy fafau |

Describe briefly using the necessary circuit diagram, the three basic
processes which take place to generate the emf in a solar cell when light

falls on it. Draw the I — V characteristics of a solar cell.

Write two important criteria required for the selection of a material for
solar cell fabrication.

OR
Describe briefly how light emitting diode is fabricated and explain its

working. Write three important advantages of LEDs over conventional

incandescent lamps.

I < fgforl W & sufaeo G § Sfed @l qun saEeg T THa
ol g Icua o et o i fawarerr @ieon < g <hifSig i 3R
@ HIT |

Compare and explain three distinguishing features observed in Young’s

double slit interference pattern with those seen for a coherently

illuminated single slit producing diffraction pattern.
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16.  BISSISH AT n'™) & H TR TG Y
%{ﬁsmr;mﬁlnw et (K.E.) % fau =aeis gcqa shifv 31 gurise, foh
K.E.—8 - , W&l r,,, ndl Hefl sl s g | ndff e # feufas ot @

TCS
Hefl B nﬁwam:‘a%? 3

Use Bohr’s postulates of hydrogen atom to deduce the expression for the

kinetic energy (K.E.) of the electron revolving in the n'" orbit and show

e2

that K.E. = , where r_ is the radius of the n' orbit. How is the

8me 1,

potential energy in the n'? orbit related to the orbital radius r,?

17. AND 72 (gR) a¥1 NOT 2 (gR) hl G TRUET o ST grT guiise o
NAND 712, AND T2 qem NOT ¢ &1 (35! hH §) TS 2 | 398 NAND T
! YeoIq™ FRU{ 18T |

NAND 73l (gRi) &l |rees T 41 hal Sl 2 2 3

Using truth tables of AND gate and NOT gate show that NAND gate is
an AND gate followed by a NOT gate. Hence write the truth table of
NAND gate.

Why are NAND gates called ‘Universal Gates’ ?

18. 3T HIghetd (AM) T % 3cddl B ol TIC i o Toiu ferefl Tt ATgateh
Teh Sclfeh TNE SATEY | o1 UTgfoTd dohdi o1 81 €9 H JORUT foham ST wehar
2 2 Tse i | 3

Draw a block diagram of a simple modulator to explain how the AM wave
is produced. Can the modulated signal be transmitted as such ?
Explain.
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fereft m,sl?‘g'm GXI%ﬁ Hz W#w QOILHWW@HT% |

Icdfoid Wik 1 AF 2:0 x 1073 W 2 | 39 9 g 3figad fohae Bl
g TehUe Icdfoia foht SITd & 2

T ARG H, ¢ 9193l X qA Y o ¢ i fafertor shi g (v)
iy e fawa v, & foae (qfEd) g TR | A gl
AT W 3Adfad faferwer s quteed s &1, i fohe a1q |, (g8 91g
S AT ) AT TS Sall o SAFLAT DT IceiA BHTT ? TS HITT, |

Vo 4
X Y

0-5 1-0 v

Monochromatic light of frequency 6 x 10!* Hz is produced by a
laser. The power emitted is 2:0 x 103 'W. How many photons per

second on an average are emitted by the source ?

Figure shows variation of stopping potential (V) vs. frequency (v)
of incident radiation for two metals X and Y. Which metal will
emit electrons of larger kinetic energy for same wavelength of

incident radiation ? Explain.

VO A

0-5 1-0 v
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(b)

(a)

(b)
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CIERSIIEN 6000 A 1 TR I @ 2 | 39 e

&1 favre i sma hifsre fraes 1figeres %1 =@ 250 cm 2 |

q fafet (feret) & o= it g (W) 1 mm 2 97 T 98 78 1 m
QW 2 | Tw Bl =ter fohalt B =fee, arfer weha fer
I o g Ifess & i f-ferd et & 10 3fass wea &1 w1 2

Assume that the light of wavelength 6000 A is coming from a star.
Find the limit of resolution of a telescope whose objective has a
diameter of 250 cm.

Two slits are made 1 mm apart and the screen is placed 1 m away.
What should be the width of each slit to obtain 10 maxima of the
double slit pattern within the central maximum of the single slit
pattern ?

21. oTq i Th B hl AT 7 7 | $HHI Th 50 91 o fohell Dol () & g
TS foRa T @ SR gE R Bect Sl 9y W R 7 | B W v IEM |
AT AT 8 | SHehI O 318 Socl b HHAC oh oFEdd & a9l Becl  heg §
B TORAT B | 30 UM 37T&1 % FHIGK U TR 9T UHEHH Trh & B,
T o= 2 |

(a)

(b)

55/1/G

Frg A Bedd o d= UG fagq-aes 99 (3.TH.Uh.) & folu = s
T <hifTe |
gfe foar a1 2 T o8 1 IfaUy ‘R’ ], @ 39 Wik 1 A =1 BT 2

X X X X X X
xa—@_

X

X X X X X X X
X X X X X X X

X X X X X

X X X X X
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A metallic rod of length 7’ is rotated with a frequency ‘v, with one end

hinged at the centre and the other end at the circumference of a circular
metallic ring, about an axis passing through the centre and
perpendicular to the plane of the ring. A constant and uniform magnetic

field B parallel to the axis is present everywhere.

(a)  Obtain the expression for the emf induced between the centre and

the ring.

(b)  Given that the rod has resistance ‘R’, then how much power will be

generated ?

X X X X XX ~
\ metallic ring

X X X X X X X
X X X X X X X
X

X/ X X X X X

X X X X

X

UfFRR o AT9ehihd INUfd Fm & fou =ioek fafae | 3ugw® 3qwn 6
TERIAT § FHI-3THA UG o Wawd i T8 HIT |

Write the expression for the generalized Ampere’s circuital law. Through

a suitable example, explain the significance of time-dependent term.
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SECTION D

23. BN 39w e & u fya et formerm @ 104 (qudl) e &1 = 7 | 3UH
TSt A 3H SRHHEI-IH Ueh HIgihd SUER B & | 98 I§ SRt UHId &l T
fop 319 98 T 4 AEfhd =T gY dod AT B TSH W IS qEGH] hl TR
@ gohdl 3 | fobeg, 38 98 10 &1 o1 o6 I8 ST 68 &R Al 8 | 3UH I8
T 79 ek @ g1 | fiesk 3 g6 39 A ol SRl < wrifafy i gl
HeTT <h! THSAT hl Teh ITIET HHT |

frfeTRga st = 3T 4T 4

(a) SEEA % g 991 3Teh! HRifafYr @1 3g@ i |

(b) B qur Iueh fors figres g waRkia gI-al Jeaii i Jeei@ HIY |

Hari is a student of Class X in a school near his village. His uncle gifted
him a bicycle with a dynamo fitted in it. He was thrilled to find that
while cycling during night, he could light the bulb and see the objects on
the road clearly. He, however, did not know how this device works. He
asked this question to his teacher. The teacher considered it an

opportunity and explained the working of a dynamo to the whole class.
Answer the following questions :
(a)  State the principle and working of a dynamo.

(b)  Write two values each displayed by Hari and his Science teacher.
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(a)

(b)

(c)

(a)

(b)
(c)

(a)

(b)

(c)

(a)

(b)
(c)
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SECTION E

TEHE 6wl & g w fafae | Suge sm@t i dgEa @
291isy fop forell St grawii § R fre TR oS S & |

foret armest grawiit & fow, seeht mfies qen fodios Sefoat & &
1 g & vai °, (i) ffa qen fasht dieearsti s Gi) frta qen fesh
g3l o ST UG oh OTT SASTeh ad i |

ATt JABIEU § Ho1 &9 o &I Gid o1 § 91 $7eh! HH hd fohal
ST g ?

HYAT

I Hect gREM (ed-rdiet) i Th AHIhd ARG FHIST, | 8 B
S 1 figra ffau | so8 T3 70 T8 o IS 1 o1 T g ?

(i) & TR Qe (ii) Aeedn umtear ugi i afems € |

fopeft fieaATHIet I (1) SleeHiet H A (ii) UATX H E=IRA i % g
TR fagr=a sl Tase I |

Write the principle of working of a'transformer. Show, with the
help of suitable diagrams, how the windings of a step-up
transformer are done.

Assuming the transformer to be an ideal one, deduce the
expression for the ratio of (i) output voltage to input voltage and
(i1) output current to input current in terms of the number of turns
in the primary and secondary coils.

What are the main sources of energy loss in actual transformers
and how are these reduced ?

OR

Draw a labelled diagram of a moving coil galvanometer. State its
working principle. What is the function of a cylindrical soft iron
core used in it ?

Define the terms (i) current sensitivity and (ii) voltage sensitivity.

Explain the wunderlying principle wused in converting a
galvanometer into a (i) voltmeter and (ii) ammeter.
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25. (a) YU AN TUECH i UNESAT % GWd @i % [T STERasH  Sal

(wfaaei) o1 Iect@ hHiferT |

(b) U Tortor TR@ i T § WY foh IS Hid % THAONT HufgaTg
{0 T 39T Ieer fdfars UTed o § ford JhR BT B |

(c) 3TEvTeh NG i TRl & T&d H ¥qse Shife foh ol stmafies qedq
Sl gt &1 I ThIReh dqeli § <y a1 8 | Teh IaTel ohl

TR | GHEST, foh TehIRh A=l 1 ST TehIfIeh Fehdl o TERUT
(T=rET) | hd B Gehdl 7 | 5

AT

(a) ARt =0 fopelt T 1 3R Tz = &1, 41 I8 quiH o o Su
3@ FATEY o6 t = t, T AU o TR ol BTSH hl SATHAT T
<1 TR & e TohAT ST Hehal B |

(b)  Torelt Tuder Uy % foRer mieaw | weE mrey B Yo (TReT) W feem
A §Y A b e I B G HIT | iz fop foreft T T
T WA H Uaaq § 3Rl qUIed qT HeRul 9Td "edl @, foheg
3Heh! AN J&! Wl & | 5

(a)  State the essential conditions for the phenomenon of total internal

reflection to take place.

(b) Draw a ray diagram to show how a right isosceles prism made of

crown glass can be used to obtain the inverted image.

(c) Explain briefly with the help of a necessary diagram, how the
phenomenon of total internal reflection is used in optical fibres.
Ilustrate giving an example how optical fibres can be employed for

transmission of optical signals.

OR

55/1/G QB365 - Questiony Bank Software P.T.O.




26.

55/1/G

(a)

(b)

(a)

(b)

(a)

(b)

(c)
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Draw a suitable diagram to demonstrate that given the shape of a

wavefront at t = 0, its shape at a later time t; can be obtained

using Huygens’ geometrical construction.

Consider the propagation of a plane wavefront from a rarer to a
denser medium and verify Snell’s law of refraction. Show that
when a wave gets refracted into a denser medium, the wavelength
and speed of propagation decreases but the frequency remains the

same.

“Toreggd wTerE’ g shl IRATT €T | 39T TE.ITR. (S.1) A fafan |

fopeft forga-am & srema fig T : B, =ox, By = 0 AN E, = 0, 7& «
ush forfiar foommes 2 | 95T quiie U e § W (Fge) S e’ B |
38 TS ad § TSI dTel Foied Sl qf $8eh Al T ST o
giehe I |

y

1
X
a a
a
Z

AT

THfIYE g58 i TRATT T | FEfave ge8 o TRt fomg W forga-am
1 foan 3w fog W I8 & eifirersad w1 At } 2

ferelt forggd, foga o wmor Tmfava i =it gwifsw | omawit & gft % e
H ITITR TS I8 gL 1 & I & 2

39 fggd o Tofu, x o 919 fawa V & qiEd ol g & ol T I
(@) TRY, & x (x >> 2a), & QA Hl A4 dqret W &

srfew, fomg ot — q # gt g |
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(a)

(b)

(a)

(b)

(c)
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Deﬁne the erm electric 11ux . rite 1ts o.1. unit.

Given the components of an electric field as E, = ox, E; = 0 and
E, = 0, where o is a dimensional constant. Calculate the flux
through each face of the cube of side ‘a’, as shown in the figure, and

the effective charge inside the cube.

e

n

a a
a

zZ

OR

Define equipotential surface. Why is the electric field at any point

on the equipotential surface directed normal to the surface ?

Draw the equipotential surfaces for an electric dipole. Why does
the separation between successive equipotential surfaces get wider

as the distance from the charges increases ?

For this dipole, draw a plot showing the variation of potential V
versus X, where x (x >> 2a), is the distance from the point charge

— q along the line joining the two charges.
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MARKING SCHEME
SET 55/1/G

Q. No. Expected Answer / Value Points Marks | Total
Marks
Section A
Set1,Q1 Capacitive Yo
Set2,Q5 | Reason: As current leads voltage ( by phase angle = ) v,
Set3,Q2 2 1
Set1,Q2 X — Transmitter Ya
Set2,Q4 Y - Channel Y
Set3,Q5 1
Set1,Q3 Focal length gets doubled. Yo
Set2,Q2 Power is halved. Y2
Set3,Q4 1
Setl,Q4 Copper wire is longer. Yo
Set2,Q3 Reason: pcle = pmlnm (as pl = constant)
Set3,Q1 wle> Ly v pm > pe Y
1
Set1,Q5 Positive Y2
Set2,Q1 Reason: Negative charge moves from a point at a lower potential energy to Yo
Set3,Q3 one at a higher potential energy.
1
Section B
Set1,Q6
Set2,Q7 Definition of Power loss Y
Set3,Q10 Form in which the power loss appear Y
Proof- (To minimise power loss in transmission cables 1
Voltage should be high)
Electrical energy lost per second in the resistor, is Power loss 1,
~ Power loss appears in the form of heat/ €. m. radiations. 1
Consider a device ‘R’, to which power P is to be delivered via transmission
cables having a resistance R, , Let V be the voltage across ‘R’ , and | be the
current through it, then
P 1
P=VI =y 72
Power dissipated in the cable (P;) = 12 R,
P?R,
1
o PC (0d ﬁ /2
-~ Energy transmission, at high voltage, minimizes the power loss. 2
Set1,Q7
Set2. 010 Formula o 1
Set3,Q8 Calculation of kinetic energy 1
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h
\/Zm Ek
h2
~2m Ey
_ (6.63 x 10734)2
2% 9.1x 10731 x (589 x 10-9°

=6.95 x 10725
Alternatively ,E, = 4.35ueV

AZ

E

Y2

Yo

Yo

Yo

Set1,Q8
Set2,Q6
Set3,Q9

Formula Y
Calculation & result 1%

1 11 1
70-u  —(u+20)  70-u = u+20

. 1
(ii) 7
Solving eq™ (1) and (2), u=35cm

Using lens formula

f=21.4cm

(Alternatively if a candidate calculates the focal length by using the
formula 4 f D=D? — d? , award full marks.)

Yo

Y2

Yo

Yo

Set1,Q9
Set2,Q8
Set3,Q7

(@) Value of Z Ya
Value of A Yo
(b) Explanation 1

(a) Z=56
A=89

(b) Difference in the total mass of the nuclei on the two sides of the
reaction gets converted into energy or vice versa

Alternatively.
The number is conserved but the B.E./ nucleon can be different for

different nuclei.

Yo
Yo

Set1,Q10
Set2,Q9
Set3,Q6

Explanation (4 steps) Yo x4=2

Mobile telephony takes place in following ways:

0] Physical area is divided into smaller cell zones.

(i)  Radio antenna in each cell receives and transmits radio signals, to
and from, mobile phones.

(ili)  These radio antenna are connected to each other through a
network. (Controlled and managed by a central control room
called Mobile Telephone Switching Office (MTSO) )

(iv)  MTSO records the location and identifies the cell of the mobile
phone.

Yo
Yo

Yo

Y2

2
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OR
Basic mode of communication Ya
Type of mode 1
Expression for d Y2
Line of sight / Broadcast Yo
Space wave 1
d = /2Rhy + \/2Rh, , R is radius of earth Yy
(Also accept if the student writes d o< VA )
2
Section C
Set1,Q11 - -
Set2,Q20 (a) Equivalent capacitance 1
Set3,Q15 (b) Charge on each capacitor 1+1
. . C
(a) Equivalent capacitance (C, :5 +C A
4C 40 2
= ? = ? 'uF
(b) Charge on Cy, g4 = C4xV=10x500 pC e
=5x10 * C=5mC Yo
C
Charge on C4,C,,C3 is same and is equal to 5 XV Yo
=2x1073C
=1.67mC Yo
3
Set1,Q12
Set2,021 Current drawn from the source 1
Set3,Q16 P.D across C and D 1
P.D across one of the diagonals 1
Net resistance of the circuit, Req =3 Q Y
-~ Current, =~/ =2=3A 1
Req 3
P.D across CD, Vcp = IcpXRep
=(3x34)x40=3V s
When the wire is stretched to double its length, each resistance becomes four | 1
times, i.e. 16Q2 each. A
P.D across one of the diagonal, Vac or Vgp = (1% X iA) X320=6V "
3
Set1,Q13
Set2,Q22 Path of the electron 1
Set3,Q17 Determination of frequency of revolution 1%
Dependence of frequency on speed Yo
Exolanation / Reason Y5
The force, on the electron, due to the magnetic field, at any instant is | %
perpendicular to its instanteneous velocity.
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Alternatively,
Because necessary centripetal force is provided by Lorentz magnetic force

acting on the electron.

_ 48 Yo
- 2mm
1.6X10719%6.5x107% A
= —H
2%3.14%9.1x10731
= 1.8 X 107 HZ 1/2
No Ya
Asv =-L je v isindependent of « o
2mm
3
Set1,Q14 Circuit Diagram Y
Set2,Q16 Three basic processes 1%
Set3,Q18 I-V characteristics of solar cell Yo
Important criteria Yo
> AMA—=
L l ]..\ \..
L\ '\_‘ 4
1 1
I 1
i : Y2
I |
I 1
P - n
I |
I I
| I
I 1
: :
Depletion
layer
Three basic processes which take place to generate the emf in a solar cell
are: Ya
Q) Generation of electron hole pairs due to the light incident close to
the junction. Yo
(i) Seperation of electrons and holes due to the electric field of the
depletion region. Ya

(i) Collection of electrons and holes by n-side and p-side
respectively.

I-V characteristics of solar cell
In

V., (open circuit voltage) Ya

\ >\
Isc
¥ Short circuit current
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Any one criteria of the following: Y5
Q) Small band gap (1.0 to 1.8 eV)
(i) High optical absorption
(iii)  Electrical conductivity
(iv)  Availability of raw material
(V) Cost
3
OR
Fabrication of LED Yo
Working 1
Three advantages of LEDs 1%
Yo
An LED is fabricated from a semiconductor having a band gap > 1.8 eV /
LEDs of different colours are made from compound semiconductors.
Working Yo
When LED is forward biased, the electrons move from n—p and holes from
p—n; thus concentration of minority charge carriers at the junction increases.
Yo
Excess minority charge carriers combine with majority charge carriers near
the junction and release energy as photons.
Advantages (Any three)
Q) Low operational voltage and less power
(i) Fast action and no warm-up time required. ) Y5 x3
(ili)  The bandwidth of emitted light is 100A to 500 A or, in other =1%
words, it is nearly (but not exactly) monochromatic
(iv)  Long life and ruggedness
(V) Fast on-off switching capability
3
gzggi? Comparison and Explanation of three distinguishing features. 3
Set3,Q11
Interference Diffraction
1)Equally spaced fringes 1)Fringes are not equally
spaced
2)All maxima have equal 2)Intensity of maxima keeps
brightness on decreasing
3)Formed by superposition of | 3)Formed through
wavefronts from two coherent | superposition of wavelets
sources from a single wavefront
4)There is a maxima at the 4)First minima occurs at an
angle 1/a angle 4/a
5)Quite a large number of 5)It becomes difficult to 1x3
fringes are easily observable | distinguish maxima and
minima after a few fringes
(Any three)
3
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Set1,Q16 Expression for K.E 2
Set2,Q18 Relation for P E 1
Set3.012 elation for P.
For an electron (mass ‘m’ and charge ‘e’) revolving in n™ stable circular
orbit of radius ‘r,” , with velocity v, , in the hydrogen atom (z=1), we have Ya
mv,? 1 e?
r,  Ame, 1,2 2
~ Ep = ! 2= e 1
" Pk T M = 8me, 1,
_ 1 (+e) x(—e) Y,
P 4me, Ty
_ e’ v,
dme, 1y
3
Set1,Q17
Set2,Q19 Showing that AND gate followed by NOT gate is NAND gate 1
Set3,Q13 Truth table of NAND gate 1
Why is NAND gate called universal gate? 1
A | B | Output of AND gate | Output of NOT gate
(Input of NOT gate) 1
0]0 0 1
0]1 0 1
10 0 1
1)1 1 0
Truth table of NAND Gate
A [ B Y 1
0 0 1
0 1 1
1 0 1
1 1 0
NAND gate is called universal gate because all other basic gates like AND, 1
OR, NOT gate, can be realised by using NAND gates only.
3
Set1,Q18
Set2,Q11 Block Diagram / Explanation of AM 1
Set3,Q14 Can AM wave be transmitted as such 1
Explanation 1
Block Diagram
m(t) BANDPASS AM Wave
o) M0 | SQUARE y(d FILTER S
o\ N ng DEVICE “|  CENTRED
A sinwo,t A ‘I' AT o,
(Modulating Bx(t)+Cx(t)* 1
Signal) c(d
A, sin ot
(carrier)
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Alternatively, Explanation of Amplitude Modulation
No / AM wave cannot be transmitted as such 1
Explanation
The A.M. wave has to be fed to power amplifier to provide the necessary
power. It is then fed to the antenna for transmission. 1
3
1,01
ggtz’&g (@) Formula 1
Set3’Q21 Calculation of number of photons per second 1
’ (b) Identification of Metal Ya
Reason/explanation Yo
(@ P =Nhv 1
N = 2x1073
"~ (6.63 x 10734 x 6.0 x 1014) Y2
N = 5.0 X 105 photons per second 2
(b) Metal X Y
(K.E=hv—p) = ¢y > ¢, - (K.E)p> (K.E), 2
3
Set1,Q20 (a) Formula Y%
Set2,013 Calculation and Result 1
Set3,Q22 (b) Formula Y%
Calculation and Result 1
(a) AQ = 1.224 1
D
1.22x6Xx1077 .
= = radian Y
~ 2.9 x 1077 radian iz
AD _ 4 Y
(b) 10; =2 a
d 10~ Y%
TT5pTEx1 "
4 o
=2x10"" m=0.2 mm 3
Set1,Q21 - .
Set2 814 (a) Derivation for induced emf 2
Set3’Q19 (b) Expression for power 1
(@) Emf induced = fol Bwrdr Y
1 2
= EBWZ A
v w = 2mv
. & =nBvl? 1
2 2
(b) P = ERTZ _ (mBvi?)” Y,
m2B%v24
= —R 1/2 3
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Set1,Q22 ) ) .
Set2,Q15 Expresspn for g'ene_ra'lllzed Ampere s Circuital law 1
Set3,020 Explanation of significance of time dependent term 1
Suitable Example 1
SN d
ng Al = i, +,uoeo%
d 1
= Ho (ic + & %) = Uo(ic +ip)
The time dependent term i.e. ¢, % represents the displacement current. A
It exists in the region in which the electric flux (o) i.e. the electric field (E) | 7
changes with time.
Example- During charging or discharging of a capacitor, the current in the
wire connecting the capacitor plates to the source is conduction current | 72
whereas in between the plates it is displacement current due to the change of
electric field between the plates which makes the circuit complete.
The conduction current is always equal to the displacement current. &
3
Section D
Set1,Q23
Set2,Q23 a) Principle of a dynamo 1
Set3,023 Working of a dynamo 1
b) Two values displayed by Hari Y2+ Y
Two values displayed by Science teacher Yo'+ Yo
(a) Principle
When magnetic flux through a coil changes , an emf is induced 1
across its ends.
Working :
When the coil (Armature ) is rotated in-a uniform magnetic field by
some external means , the magnetic flux through it changes . So an
emf is induced across the ends of the coil connected to an external 1
circuit by means of slip rings and brushes.
(b) Two values displayed by Hari (Any two)
Scientific temperament / curiosity / learning attitude / any other Yo+
quality
Two values displayed by Science teacher (Any two)
Responsive / caring and concerned / encouraging / any other quality | %2+ %
4
Section E
Set1,Q24
Set2,Q26 () Principle of working of a transformer 1
Set3,Q25 Labelled Diagram 1
(b) Deducing expression for the ratio of
(1) Output voltage to input voltage 1
(i) Output current to input current 1
(c) One main source of energy loss Ya
How is the energy loss reduced? Y2
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(a) Principle of working :
When the current through the primary coil changes , the magnetic
flux linked with the secondary coil also changes . Hence an emf is 1
induced across the ends of the secondary coil.
(If the student just writes , ‘mutual induction’ , award % mark)

Soft iron-core

E 1
Y
N Vs g de o o L do
(b) () 32 = —Ns 3 /(=Np)
Ns 7
=
(”) Vsls = VPIP 1/2
Is _ Np
“Ip Ns e
(c) Main source of energy losses ( any one)
Flux leakage / Joule’s loss / loss due to eddy currents / Hysteresis 2

loss

How they are reduced (any one in the same order)
Winding the primary and secondary coils one over the other / using | 2
thick wires / having laminated core / using a magnetic materal which

has a low hysterisis loss 5
OR
(@) Labelled diagram of a moving coil galvanometer 1
Working Principle Y2
Function of soft iron core Yo
(b) Definition of
(1) Current sensitivity Yo
(i)  Voltage sensitivity Y2
(c) Underlying Principle used in converting a galvanometer into
M Voltmeter 1
(i)  Ammeter 1
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Scale

Permanent magnet

1
':;r: \ t-
— core
\
Uniform radial
magnetic field
Principle : When a current carrying coil is kept in a magnetic field , it 1,
experiences a torque .
Cylindrical soft iron core makes the magnetic field radial. o
(b)(i) Current sensitivity : It is defined as deflection produced per unit Yy

current flowing through the galvanometer.
(i) Voltage sensitivity : It is defined as deflection produced per unit voltage | 1
applied across the galvanometer.

(c) (i) Conversion of galvanometer, into a voltmeter,-is based on the fact that

the voltmeter should have very high resistance so that very little (negligible) 1
current flows through it.
(ii) Conversion of galvanometer, into an ammeter, is based on the fact that
the ammeter should have very little (negligible) resistance so that it does not 1
reduce the current in the circuit.
Alternatively,
A galvanometer can be converted into
(i) avoltmeter by connecting a suitable high resistance in series with its coil.
(if) an ammeter by connecting a suitable shunt (I,,) resistance parallel with
its coil.
[Note: If the student just writes
()R = (.1 - G)
lg
and (i) S = ( e )G
I—lg

award %2 mark in each case] 5

22383451 (@ Two egsential conditions for the phenomenon of total internal

Set3’ Q26 reflect_lon 1+1

’ (b) Ray diagram 1
(c) Diagram with explanation 1%
Example to illustrate the use of optical fibre in transmission Y2
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(a) Essential conditions
(1) The ray should pass from an optically denser medium into an

optically rarer medium. 1
(2) Angle of incidence should be greater than the critical angle
for the given pair of media. 1

(b) Ray Diagram

B 45
A A

W [=]

22 1
w
A
8 457
(©
Low n

When ray of light enters into an optical fibrethrough one of its ends , it
undergoes repeated total internal reflections-along the length of the optical
fibre as the angle of incidence at every point inside optical fibre is greater
than the critical angle.

Example :

Optical fibres are used for transmitting and receiving optical signals to
facilitate visual examination of internal organs of human body / for long
distance communication through optical fibre cables. (any one)

Y2

Ya

OR

(a) Diagram demonstrating the location and shape of a wavefront
using Huygen’s principle 1
(b) Diagram 1
Verification of Snell’s law 1%
Reasons for decrease of wavelength and speed but no change
in frequency 1Y%
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(a)
1
Alternatively,
D o) D,
(Any one of the above diagram)
(b)
Incident wavelront
A B
Dj'l.'
L] i
Medium 1 i 1
P A r C P
Medium 2 F
Refracted
Va<Uy E wavefront
Let t be the time taken by the wavefront to travel the distance BC in rarer
medium and AE in the denser medium
~ BC = vyt and AE = vyt A
_sini  BC y AC vyt
“sinr AC T AE vt
U1
= — = constant Y
2
This constant is called ‘refractive index’ of the denser medium with respect .
to the rarer medium . Thus , Snell’s law is verified. /2
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Reason : If 2; and 4, denote the wavelengths of light in medium 1 and
medium 2 , thenif BC=1,, AE= 41,

A BC v

1, AE v,
Or
V1 V2

PR

This equation implies that when a wave gets refracted into a denser medium ,
its wavelength and speed decrease but its frequency (v/A)remains the same.

Yo

Yo

Yo

Set1,Q26
Set2,Q25
Set3,Q24

(@) Definition of Electric flux 1
S.1 unit Yo
(b) Formula for Electric flux Yo
Calculation and result for net flux 2
Formula and result for net charge Yo+ Y

(a) Definition :

Total number of electric field lines passing perpendicularly through a
surface is called electric flux.

(Also accept: ¢ = §, E.ds)

S.1 unit of electric flux is Nm?C 1

(b)From ¢ = $E. ds

Net flux through the cube ( @) = Net flux through the two faces of
the cube ( Perpendicular to X-axis + perpendicular to Y-axis +
Perpendicular to Z-axis)

d= py+ 0+0(As E.dsis (separately) zero for (E =« x ) for
the faces perpendicular to the y and the z-axis)

=EdS cos180° + EdS cos0°
= [a(a)(-1) + a(2a)]a?

(Alternatively: [« (x)(—=1)+o (a + x)(+1)]a?)
= aa®

Net charge inside cube (Q)=®¢,
= aade,

OR

(a) Definition of equipotential surface

Reason (Electric field directed normal to the surface )
(b) Diagram

Reason
(c) Plot of V versus X 1

e

Yo

Yo

Yo

Ya

Ya

Ya

Yo
Yo
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(a) A surface having same potential at all points on it , is called an 1
equipotential surface.
If the electric field were not normal to the equipotential surface, |1
it will have a non-zero component along the surface . Hence,
work
will be done in moving a unit test charge from one point to
another point on the surface against this component of the field ,
which is not true.

Alternatively:

Component of E along the equipotential surface

= — (rate of change of potential along the equipotential surface)
= zero

Hence E has to be normal to the equipotential surface at all
points.

(b)

Reason :

Electric field decreases as the distance from the charges increases.
Also, electric field component, in any direction, equals the negative
of rate of change of potential in that direction.

(©)

N o€ == OR ¥

')/I
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